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-'Uil.é;'(:ftii'O'GS:' Whlch Is greater? For each problem, make a true statement by placing fhec:ppmm :‘- inequality
Symbol between the two expressions. (Hint: Think about what you know about the expression and the end
pehavior as well as rates of change of the function instead of plugging in values).
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If x < -100, then: If x > 100, then: ’ .
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Directions: Determine the function type and state the end behavior.
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Directions: Use questions # 10-13 to answer the following.
 above has the greatest value af x = 10007
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Review: Solve for x.

24, x*=16=0 PRTRIT 2, ¥ 42 EASN
-cx-qﬁ(xﬁ—q)"o , L (X +3YX+1)=0
ey -
X—L‘ = KT A AX¥S=0 X'f'\:D_

X= Y %= -4 X=-3 " X=r)

26 X*=5x+6=0 27, X* +4x= 12
X4Ux-12 =0
(Xt X-2)= O .
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